Calculus | Midterm |

Fall 2013

The square brackets following an exam question number refer to a section/problem number in the text.
Problem numbers preceded by the symbol ~ are modeled on that problem from the text, but not
identical to it. Problem numbers without the symbol are identical to or very close to the problem from

the text. Other indicators are self-explanatory.

Question

Answer
(Version A)

Answer
(Version B)

Answer
(Version C)

[1.1, ~Ex 4]
[1.1,~31]

[1.1, ~22]

[1.2, Theorem 2]
[1.2, ~68]

[1.2, ~26]

[1.4, ~54]
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9. [L.5]

10. [1.5, ~20]
11. [1.5, ~27]
12.[2.1, ~25]
13.[2.1, ~26]
14.[2.1, ~17]
15.[2.2, 20]
16. [2.2, ~42]
17.[2.3,~8]
18. [2.1, 30]
19. [2.3, ~57]
20. [2.3, ~45]

[1.4, Thms 7 & 8, ~Lab 3 #4]

MOOOOM>POUMIU>IOOT>MO T

TOMW@WP>POOWP>OWMOOI>MOTOTM

OMP>POmITMOTP>OO0MOoWMOQO M >

NOTE: On Midterm 2, we will be using a NEW SCANTRON FORM: SC882-E

See picture on the next page.
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cha cBa cfa b= =Ea
cA= cBa =C= =D= cE=
cAa cBa cCa cDa cEo
cAa cBa =Ca =0= cE=
cAa cBx cCz cD> cE>
cAs =Bz =C= =D= cE=
cAa cBa cCa eDa eE=
cAs =Ba =C= =D= =E=
cAs cB= =C=> D= cE=
cA= cBa =C= =D= =E=
eAa eBa e=C= =0= cE=
cAa cBa == =Ds cE=
cAs cBa =C= =D= cE=
cAa cBa <Ca <D= cE=
ch=a eB= =C= =D= =E=
cha cBa cfa b= <E=
cA= cBs =C= =D= cE=
cAa cBa cCa cbDa cEa
cAa cB= =C= =D= c=E=
cAa cBas cfa eba cEo
cA= cB= =C= =D= cE=
cAa cBa cCa eb=2 cE=
A= cBa =C= =D= c=E=
cAs cBa cC> cD> cE>
cA=a cBa =C= =D= c=E=
eAa eBa eCa =02 ecE=
cAa cBa == =D= cE=
cAs £B= =C= =D= cE=
cAa cBa <C= <D= c<E=
efAa eBa =Ca =0= e=E=
cAa cBa cC= cD= cEo
cAs cBa =C= =D= cE=
cAa cBa cCa cbDa cE=
ceha cBa =Ca =0= cE=
cha cBa cfa cba =E>
cAa cB> 0= 0= cE>
cAa cBa cCa cDo cE=
cAa cBa =C= =D= =E=
cAs cBz cC> cD> cE>
cA= cB= =C= =D= cE=
eAa eBa eCa eD=2 eE=
cAs =Ba =C= =Dz =E=
cAs cBa =Cs D= cE>
cAa =Bz =C= c=D= cE=
eAs eBa eCa eD= eE=
cAa cBa == =Ds cE=
cAs cB> =C= eD= cE=
cAa cBa <Ca <D= c<E=
eAs =Ba eCa =D= eE=
cha cBa cfa cb= cE>
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Test Version
Letter would go
here.
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IMPORTANT

MARKING
INSTRUCTIONS

* WAKE DARF WMARKE
* RASE COMPLETELY
TO CHAKGE
* EXAMPLE:
Femrraeee
SCORE FEATURE:
+ Mk total possivhe
subjective points
+ Cindy one mark per ine
o by
* 16) poins mamimym
EXAMPLE OF STUDENT
SCORE:

] g
=f= £l

SHE
=§a

Y
SiEE
=fi

_—

Your ID number would go here. Truncate
the leading “1”.

So, an ID # of 1000986231
would be entered: 000986231

This would be filled in as we did
for Midterm 1. Test No: would be
“2A” for version ﬂ of midterm 2.




